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F.4
Derivation of Test Requirements (This clause is informative)

The Test Requirements in the present document have been calculated by relaxing the Minimum Requirements of the core specification using the Test Tolerances defined in clause F.2. When the Test Tolerance is zero, the Test Requirement will be the same as the Minimum Requirement. When the Test Tolerance is non-zero, the Test Requirements will differ from the Minimum Requirements, and the formula used for this relaxation is given in table F.4.

Table F.4.1: Derivation of Test Requirements (Transmitter tests)

	Test 
	Minimum Requirement in TS 25.101
	Test Tolerance
(TT)
	Test Requirement in TS 34.121

	5.2 Maximum Output Power

	Power class 1 (33 dBm) 
Tolerance = +1/-3 dB

Power class 2 (27 dBm) 
Tolerance = +1/-3 dB

Power class 3 (24 dBm) 
Tolerance = +1/-3 dB

Power class 4 (21 dBm) 
Tolerance = ±2 dB
	0.7 dB
	Formula: (Upper) Minimum Requirement + TT

 (Lower) Minimum  Requirement – TT

For power classes 1-3:

Upper Tolerance limit = +1.7 dB
Lower Tolerance limit = -3.7 dB

For power class 4:

Upper Tolerance limit = +2.7 dB
Lower Tolerance limit= -2.7 dB

	5.2A Maximum Output Power with HS-DPCCH
	For Power class 3:

   Power class 3 (24 dBm) 
   Tolerance = +1/-3 dB

   Power class 3 (23 dBm) 
   Tolerance = +2/-3 dB

   Power class 3 (22 dBm) 
   Tolerance = +3/-3 dB

For Power class 4:

   Power class 4 (21 dBm) 
   Tolerance = ±2 dB

   Power class 4 (20 dBm) 
   Tolerance = +3/-2 dB

   Power class 4 (19 dBm) 
   Tolerance = +4/-2 dB
	0.7 dB
	Formula: (Upper) Minimum  Requirement  + TT

 (Lower) Minimum  Requirement – TT

For power classes 3:

   Upper Tolerance limit = +1.7 dB (24 dBm)

   Upper Tolerance limit = +2.7 dB (23 dBm)

   Upper Tolerance limit = +1.7 dB (22 dBm)
   Lower Tolerance limit = -3.7 dB

For power class 4:

   Upper Tolerance limit = +2.7 dB (24 dBm)
   Upper Tolerance limit = +3.7 dB (23 dBm)
   Upper Tolerance limit = +4.7 dB (22 dBm)
   Lower Tolerance limit = -2.7 dB

	5.3 Frequency Error


	The UE modulated carrier frequency shall be accurate to within 0.1 ppm compared to the carrier frequency received from the Node B.
	10 Hz
	Formula: Minimum Requirement + TT

modulated carrier frequency error= (0.1 ppm + 10 Hz).


	5.4.1 Open loop power control in the uplink
	Open loop power control tolerance ±9 dB (Normal)

Open loop power control tolerance ±12 dB (Normal)


	1.0 dB
	Formula: (Upper) Minimum Requirement + TT

(Lower) Minimum  Requirement – TT

For Normal conditions:

Upper Tolerance limit = +10 dB
Lower Tolerance limit = -10 dB

For Extreme conditions:

Upper Tolerance limit = +13 dB
Lower Tolerance limit = -13 dB



	5.4.2 Inner loop power control in uplink
	See table 5.4.2.1 and 5.4.2.2
	0.1dB

0.15 dB

0.2 dB

0.3 dB
	Formula: (Upper) Minimum  Requirement + TT

 
(Lower) Minimum  Requirement – TT

	5.4.3 Minimum Output Power

	UE minimum transmit power shall be less than –50 dBm
	1.0 dB
	Formula: 
Minimum Requirement  + TT

UE minimum transmit power = –49 dBm 

	5.4.4 Out-of-synchronisation handling of output power: 
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0 ms for timing measurement
	Formulas:
Minimum Requirement between A and B + TT
Minimum Requirement between B and D – TT 
Minimum Requirement between D and E – TT
Minimum Requirement between E and F + TT
transmit ON/OFF time Minimum Requirement + TT timing 
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Uncertainty of OFF power measurement is handled by Transmit OFF power test and uncertainty of ON power measurement is handled by Minimum output power test.



	5.5.1 Transmit OFF power (static case)

	Transmit OFF power shall be less than -56 dBm
	1.0 dB
	Formula: Transmit OFF power Minimum Requirement + TT
Transmit OFF power = –55dBm.

	5.5.2 Transmit ON/OFF time mask (dynamic case)
	Transmit ON power shall be the target value as defined in clause 5.5.2.2

Transmit OFF power shall be less than -56 dBm
	On power upper TT = 0.7 dB

On power lower TT = 1.0 dB 

Off power TT = 1.0 dB
	Formula for transmit ON power:

(Upper) Minimum Requirement (Transmit ON power) + On power upper TT

(Lower) Minimum Requirement (Transmit ON power) - On power lower TT

To calculate Transmit ON power target value range take the nominal TX power range from Table 5.5.2.3 then apply table 5.4.1.1 open limits then apply table 5.7.1 (only if there has been a transmission gap) then cap the upper value using table 5.2.1.
Formula for transmit OFF power: Transmit OFF power Minimum Requirement + Off power TT

Transmit OFF power = -55 dBm

	5.6 Change of TFC: power control step size
	TFC step size = 7dB (Up or Down)

Tolerance=2dB
	0.3 dB
	For the nominal -7dB step:
(Upper) Minimum Requirement + TT = -4.7 dB

(Lower) Minimum Requirement  - TT = -9.3 dB

For the nominal +7dB step:

(Upper) Minimum Requirement + TT = +9.3 dB

(Lower) Minmum Requirement  - TT = +4.7 dB

	5.7 Power setting in uplink compressed mode
	See tables  5.7.2 and 5.7.3
	 Subset of 5.4.2
	Formula: (Upper) Minimum Requirement + TT

 (Lower) Minimum Requirement – TT 

	5.7A HS-DPCCH
	See table 5.7A.1 and 5.7A.2
	0.1 dB

0.15 dB

0.2 dB

0.3 dB
	Formula: (Upper) Minimum Requirement + TT

 (Lower) Minimum Requirement – TT

	5.8 Occupied Bandwidth


	The occupied channel bandwidth shall be less than 5 MHz based on a chip rate of 3.84 Mcps.
	0 kHz
	Formula: occupied channel bandwidth Minimum Requirement + TT

occupied channel bandwidth = 5.0 MHz

	5.9 Spectrum emission mask

	Minimum requirement defined in TS25.101 Table 6.10.

The lower limit shall be (50 dBm / 3.84 MHz or which ever is higher. This is expressed as the equivalent power in the measurement band-width used at each offset.


	1.5 dB
	Formula: Minimum requirement + TT
Lower limit Minimum Requirement + TT

Add 1.5 to Minimum requirement entries in TS25.101 Table 6.10.

Zero test tolerance is applied for Additional requirements for Band II due to FCC regulatory requirements.

The lower limit shall be (48.5 dBm / 3.84 MHz or which ever is higher.

	5.9A Spectrum emission mask with HS-DPCCH
	Minimum requirement defined in TS25.101 Table 6.10.

The lower limit shall be (50 dBm / 3.84 MHz or which ever is higher.


	1.5 dB
	Formula: Minimum requirement + TT
Lower limit Minimum Requirement + TT

Add 1.5 to Minimum requirement entries in TS25.101 Table 6.10.

Zero test tolerance is applied for Additional requirements for Band II, Band IV and Band V due to FCC regulatory requirements.

The lower limit shall be (48.5 dBm / 3.84 MHz or which ever is higher.

	5.9B Spectrum emission mask with E-DCH
	Minimum requirement defined in TS25.101 Table 6.10.

The lower limit shall be (50 dBm / 3.84 MHz or which ever is higher.


	1.5 dB
	Formula: Lower limit Minimum Requirement + TT
Add 1.5 to Minimum requirement entries in TS25.101 Table 6.10.

Zero test tolerance is applied for Additional requirements for Band II, Band IV and Band V due to FCC regulatory requirements.

The lower limit shall be (48.5 dBm / 3.84 MHz or which ever is higher.

	5.10 Adjacent Channel Leakage Power Ratio (ACLR)

	If the adjacent channel power is greater than –50 dBm then the ACLR shall be higher than the values specified below.
	0.0 dB
	Formula: Absolute power threshold + TT

	
	Power Classes 3 and 4:

UE channel +5 MHz or -5 MHz, ACLR limit: 33 dB

UE channel +10 MHz or -10 MHz, ACLR limit: 43 dB 


	0.8 dB
	Formula: ACLR Minimum Requirement - TT

Power Classes 3 and 4:

UE channel +5 MHz or -5 MHz, ACLR limit = 32.2 dB

UE channel +10 MHz or -10 MHz, ACLR limit = 42.2 dB 

	5.10A Adjacent Channel Leakage Power Ratio (ACLR) with HS-DPCCH

	If the adjacent channel power is greater than –50 dBm then the ACLR shall be higher than the values specified below.
	0.0 dB
	Formula: Absolute power threshold + TT

	
	Power Classes 3 and 4:

UE channel +5 MHz or -5MHz,

ACLR limit: 33 dB

UE channel +10 MHz or -10MHz, ACLR limit: 43 dB
	0.8 dB
	Formula: ACLR Minimum Requirement – TT

Power Classes 3 and 4:

UE channel +5 MHz or -5MHz, ACLR Limit : 32.2 dB

UE channel +10 MHz or -10MHz, ACLR Limit: 42.2 dB

	5.10B Adjacent Channel Leakage Power Ratio (ACLR) with E-DCH

	If the adjacent channel power is greater than –50 dBm then the ACLR shall be higher than the values specified below.
	0.0 dB
	Formula: Absolute power threshold Minimum Requirement + TT

	
	Power Classes 3 and 4:

UE channel +5 MHz or -5MHz,

ACLR limit: 33 dB

UE channel +10 MHz or -10MHz, ACLR limit: 43 dB
	0.8 dB
	Formula: ACLR Minimum Requirement– TT

Power Classes 3 and 4:

UE channel +5 MHz or -5MHz, ACLR Limit: 32.2 dB

UE channel +10 MHz or -10MHz, ACLR Limit:42.2 dB

	5.11 Spurious Emissions

	
	
	Formula: Minimum Requirement+ TT
Add zero to all the values of Minimum Requirements in table 5.11.1a and 5.11.1b.

	
	Frequency Band
	Minimum Requirement
	
	Frequency Band
	Minimum Requirement

	
	9 kHz  f < 150 kHz
	36dBm
/1kHz
	0 dB
	9kHz ( f ( 1GHz
	36dBm
/1kHz

	
	150 kHz  f < 30 MHz
	36dBm
/10kHz
	 0 dB
	150 kHz  f < 30 MHz
	36dBm
/10kHz

	
	30 MHz  f < 1000 MHz
	36dBm
/100kHz
	 0 dB
	30 MHz  f < 1000 MHz
	36dBm
/100kHz

	
	1 GHz  f < 12.75 GHz
	30dBm
/1MHz
	0 dB
	1 GHz  f < 2.2 GHz
	30dBm
/1MHz

	
	
	
	 0 dB
	2.2 GHz  f < 4 GHz
	30dBm
/1MHz

	
	
	
	 0 dB
	4 GHz  f < 12.75 GHz
	30dBm
/1MHz

	
	1893.5 MHz < f < 1919.6 MHz
	41dBm
/300kHz
	 0 dB
	1893.5 MHz < f < 1919.6 MHz
	41dBm
/300kHz

	
	925 MHz  935 MHz f 
	67dBm
/100kHz
	 0 dB
	925 MHz  935 MHz f 
	67dBm
/100kHz

	
	935 MHz < f  960 MHz
	79dBm
/100kHz
	 0 dB
	935 MHz < f  960 MHz
	79dBm
/100kHz

	
	1805 MHz  1880 MHz f 
	71dBm
/100kHz
	0 dB
	1805 MHz  1880 MHz f 
	71dBm
/100kHz

	5.12 Transmit Intermodulation


	Intermodulation Product
5MHz
       -31 dBc
10MHz
 -41 dBc 

CW Interferer level = -40 dBc
	0 dB
	Formula: CW interferer Minimum Requirement– TT/2

Intermod Products limits remain unchanged.

CW interferer level = -40 dBc

	5.13.1 Transmit modulation: EVM
	The measured EVM shall not exceed 17.5%.
	0%
	Formula: EVM Minimum Requirement + TT

EVM limit = 17.5 %

	5.13.1A Transmit modulation: EVM with HS-DPCCH
	The measured EVM shall not exceed 17.5%.
	0%
	Formula: EVM Minimum Requirement + TT

EVM limit = 17.5 %

	5.13.2 Transmit modulation: peak code domain error
	The measured Peak code domain error shall not exceed ‑15 dB.
	1.0 dB
	Formula: Peak code domain Minimum Requirement + TT

Peak code domain error = -14 dB

	5.13.3 UE phase discontinuity (EVM)
	The measured EVM shall not exceed 17.5%.
	0%
	Formula: EVM Minimum Requirement + TT

EVM limit = 17.5 %

	5.13.3 UE phase discontinuity (Frequency error)
	The UE modulated carrier frequency shall be accurate to within +/-0.1 ppm compared to the carrier frequency received from the Node B.
	10 Hz
	Formula: modulated carrier frequency error + TT

modulated carrier frequency error = +/-(0.1 ppm + 10 Hz).



	5.13.4 PRACH preamble quality (EVM)
	The measured EVM shall not exceed 17.5%.
	0%
	Formula: EVM Minimum Requirement + TT

EVM limit = 17.5 %

	5.13.4 PRACH preamble quality (Frequency error)
	The UE modulated carrier frequency shall be accurate to within +/-0.1 ppm compared to the carrier frequency received from the Node B.
	10 Hz
	Formula: modulated carrier frequency error Minimum Requirement + TT

modulated carrier frequency error = +/- (0.1 ppm + 10 Hz).


Table F.4.2: Derivation of Test Requirements (Receiver tests)
	Test 
	Minimum Requirement in TS 25.101
	Test Tolerance
(TT)
	Test Requirement in TS 34.121

	6.2 Reference sensitivity level

	Îor = -106.7 dBm / 3.84 MHz

DPCH_Ec = 117 dBm / 3.84 MHz

BER limit = 0.001
	0.7 dB
	Formula: Îor Minimum Requirement + TT




DPCH_Ec + TT

BER limit unchanged

Îor = 

-106 dBm / 3.84 MHz

DPCH_Ec = 
-116.3 dBm / 3.84 MHz



	6.3 Maximum input level
	-25 dBm Ior

-19 dBc DPCH_Ec/Ior
	0.7 dB
	Formula: Ior Minimum Requirement -TT

Ior = -25.7 dBm

	6.3A Maximum Input Level for HS-PDSCH Reception (16QAM)
	-25 dBm Ior
	0.7 dB
	Formula: Minimum Requirement -TT

Ior = -25.7 dBm

	6.4 Adjacent Channel Selectivity

	Îor = -92.7 dBm / 3.84 MHz

DPCH_Ec = 103 dBm / 3.84 MHz

Ioac (modulated) = -52 dBm/3.84 MHz

BER limit = 0.001
	0 dB
	Formula: Îor unchanged


DPCH_Ec unchanged

    Ioac Minimum Requirement – TT

BER limit unchanged

Ioac = -52 dBm/3.84 MHz



	6.5 Blocking Characteristics


	See Table 6.5.3 and 6.5.4. in TS34.121

BER limit = 0.001
	0 dB
	Formula: 
I blocking (modulated) Minimum Requirement - TT (dBm/3.84MHz)

I blocking (CW) Minimum Requirement - TT (dBm)

BER limit unchanged



	6.6 Spurious Response


	Iblocking(CW) –44 dBm

Fuw:
Spurious response frequencies
BER limit = 0.001
	0 dB
	Formula: I blocking (CW) Minimum Requirement - TT (dBm)

Fuw unchanged

BER limit unchanged

Iblocking(CW) = -44 dBm



	6.7 Intermodulation Characteristics


	Iouw1 (CW)           -46 dBm

Iouw2 (modulated) –46 dBm / 3.84 MHz

Fuw1 (offset)
10
MHz

Fuw2 (offset)
20
MHz 

Ior = -103.7 dBm/3.84 MHz

DPCH_Ec = -114 dBm/3.84
BER limit = 0.001
	0 dB
	Formula: 
Ior Minimum Requirement + TT


DPCH_Ec + TT


Iouw1 level unchanged


Iouw2 level unchanged


BER limit unchanged.
Ior = -114 dBm


BER limit. = 0.001

	6.8 Spurious Emissions

	
	
	Formula: Maximum level + TT
Add zero to all the values of Maximum Level in table 6.8.1.

	
	Frequency Band
	Maximum level
	
	Frequency Band
	Maximum level

	
	9kHz ( f ( 1GHz
	-57dBm
/100kHz
	0 dB
	9kHz ( f ( 1GHz
	-57dBm
/100kHz

	
	1GHz ( f ( 12.75GHz
	-47dBm
 /1MHz
	0 dB
	1GHz ( f ( 2.2GHz
	-47dBm
 /1MHz

	
	
	
	
	
	

	
	
	
	0 dB
	2.2GHz ( f ( 4GHz
	-47dBm
 /1MHz

	
	
	
	0 dB
	4GHz ( f ( 12.75GHz
	-47dBm
 /1MHz

	
	1920MHz ( f ( 1980MHz
	-60dBm
/3.84MHz
	0 dB
	1920MHz ( f ( 1980MHz
	-60dBm
/3.84MHz

	
	2110MHz ( f ( 2170MHz
	-60dBm
/3.84MHz
	0 dB
	2110MHz ( f ( 2170MHz
	-60dBm
/3.84MHz


Table F.4.3: Derivation of Test Requirements (Performance tests)
	Test 
	Minimum Requirement in TS 25.101
	Test Tolerance
(TT)
	Test Requirement in TS 34.121

	7.2 Demodulation of DPCH in static conditions
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	Formulas:
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	7.3 Demodulation of DPCH in multi-path fading propagation conditions Tests 1-4
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	Formulas:
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	7.3 Demodulation of DPCH in multi-path fading propagation conditions Tests 5-8
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	Formulas:
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	7.3 Demodulation of DPCH in multi-path fading propagation conditions Tests 9-12
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	Formulas:
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	7.3 Demodulation of DPCH in multi-path fading propagation conditions Tests 13-16
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	Formulas:
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	7.3 Demodulation of DPCH in multi-path fading propagation conditions Tests 17-20
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	Formulas:
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	7.4 Demodulation of DPCH in moving propagation conditions
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	7.5 Demodulation of DPCH birth-death propagation conditions
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	7.6.1 Demodulation of DPCH in transmit diversity propagation conditions
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	7.6.2 Demodulation of DCH in closed loop Transmit diversity mode
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	7.6.3, Demodulation of DCH in site selection diversity Transmission power control mode
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	7.7.1 Demodulation in inter-cell soft Handover 
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	7.7.2 Combining of TPC commands Test 1
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	7.7.3 Combining of reliable TPC commands from radio links of different radio link sets
	Test parameters:
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	7.8.1 Power control in downlink constant BLER target
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	7.8.2, Power control in downlink initial convergence
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	7.8.3, Power control in downlink: wind up effects
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	7.8.4, Power control in the downlink, different transport formats
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	7.9 Downlink compressed mode
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	7.10 Blind transport format detection Tests 1, 2, 3
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	7.10 Blind transport format detection Tests 4, 5, 6
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	7.11 Demodulation of paging channel (PCH)
	Test 1:

Ioc=-60 dBm

Îor/Ioc = -1 dB

S-CCPCH_Ec/Ior = -14.8 dB

PICH_Ec/Ior = -19 dB
	Test 1:

0.4 dB for Îor/Ioc
	Ioc, S-CCPCH_Ec/Ior and PICH_Ec/Ior are unchanged

Since PICH Power Offset has to be an integer value TT for PICH_Ec/Ior is zero. But TT of Îor/Ioc has been increased by 0.1 dB from its normal value (0.3 dB / 0.6 dB) due to test system uncertainty of PICH_Ec/Ior.
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	Test 2:

Ioc=-60 dBm

Îor/Ioc = -3 dB

S-CCPCH_Ec/Ior = -9.8 dB

PICH_Ec/Ior = -12 dB
	Test 2: 

0.7 dB for Îor/Ioc
	

	7.12 Detection of acquisition indicator (AI)
	Ioc=-60 dBm

Îor/Ioc = -1 dB

AICH_Ec/Ior = -22.0 dB

S-CCPCH_Ec/Ior = -12.0 dB
	0.4 dB for Îor/Ioc
	Ioc and AICH_Ec/Ior are unchanged.

Since AICH Power Offset has to be an integer value TT for AICH_Ec/Ior is zero. But TT of Îor/Ioc has been increased by 0.1 dB from its normal value (0.3 dB) due to test system uncertainty of AICH_Ec/Ior.

No need to add test tolerance to S-CCPCH_Ec/Ior since it is not critical parameter

Formula: Îor/Ioc = Minimum Requirement + TT


Table F.4.4: Derivation of Test Requirements (RRM tests)
	Test 
	Test Parameters in TS 25.133 [2]
	Test Tolerance
(TT)
	Test Requirement in TS 34.121

	8.2 Idle Mode Tasks
	
	
	

	8.2.2 Cell Re-Selection
	
	
	

	8.2.2.1 Scenario 1: Single carrier case
	Because the relationships between the Test system uncertainties and the Test Tolerances are complex, it is not possible to give a simple derivation of the Test Requirement in this document. The analysis is recorded in 3GPP TR 34 902 [24].



	
	During T1 and T2:

Cells 1 and 2:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB

Cells 3, 4, 5, 6:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB

Ior(3, 4, 5, 6) = -69.73 dBm


	During T1 and T2:

+0.60 dB

+0.60 dB

+0.60 dB

+0.60 dB

-0.50 dB

-0.50 dB

-0.50 dB

-0.50 dB

+0.03 dB for Ior(3, 4, 5, 6)


	During T1 and T2:

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ior(3, 4, 5, 6) Minimum Requirement + TT



	
	During T1:

Ior(1) = -62.73 dBm 

Ior(2) = -59.73 dBm 


	During T1:

-0.27 dB for Ior(1)

+0.13 dB for Ior(2)


	During T1:

Ior(1) Minimum Requirement + TT

Ior(2) Minimum Requirement + TT 



	
	During T2:

Ior(1) = -59.73 dBm 

Ior(2) = -62.73 dBm


	During T2:

+0.13 dB for Ior(1)

-0.27 dB for Ior(2)


	During T2:

Ior(1) Minimum Requirement + TT

Ior(2) Minimum Requirement + TT



	8.2.2.2 Scenario 2: Multi carrier case
	Because the relationships between the Test system uncertainties and the Test Tolerances are complex, it is not possible to give a simple derivation of the Test Requirement in this document. The analysis is recorded in 3GPP TR 34 902 [24].



	
	Channel 1 during T1 and T2:

Cell 1:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB

Cells 3 and 4:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB


	Channel 1 during T1 and T2:

+0.70 dB

+0.70 dB

+0.70 dB

+0.70 dB

-0.80 dB

-0.80 dB

-0.80 dB
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Ior(3, 4) Minimum Requirement + TT

oc(1) Minimum Requirement + TT
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Ior(3, 4) = -74.75 dBm

Ioc(1) = -70.00 dBm


	Channel 1 during T2:

+0.75 dB for Ior(1)
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-1.80 dB for Ioc(1)
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Ior(3, 4) Minimum Requirement + TT 
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	Channel 2 during T1 and T2:
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CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB
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	Channel 2 during T1:

+0.75 dB for Ior(2)

-0.05 dB for Ior(5, 6)

-1.80 dB for Ioc(2)


	Channel 2 during T1:

Minimum Requirement (Ior(2)) + TT

Minimum Requirement (Ior(5, 6)) + TT 

Minimum Requirement (Ioc(2)) + TT



	
	Channel 2 during T2:

Ior(2) = -73.39 dBm 

Ior(5, 6) = -77.39 dBm

Ioc(2) = -70.00 dBm


	Channel 2 during T2:

-0.01 dB for Ior(2)

-0.01 dB for Ior(5,6)

0.00 dB for Ioc(2)


	Channel 2 during T2:

Ior(2) Minimum Requirement + TT

Ior(5, 6) Minimum Requirement + TT 

Ioc(2) Minimum Requirement + TT



	8.2.3 UTRAN to GSM Cell Re-Selection
	
	
	

	8.2.3.1 Scenario 1: Both UTRA and GSM level changed
	During T1:
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Ior/Ioc = 0 dB

RXLEV=-90 dBm
	During T1:
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0.3 dB for Ior/Ioc

1.0 dB for RXLEV 
	During T1:

Formulas:
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 = Minimum Requirement + TT

Ior/Ioc = Minimum Requirement + TT

RXLEV - TT

Ior/Ioc = 0.3 dB
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= -9.9 dB:

Measured GSM Carrier RSSI ( uncertainty of RXLEV setting shall be below –90 dBm (Threshold for GSM).

	
	During T2:
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 = -10 dB

Ior/Ioc = - 5 dB

RXLEV=-75 dBm
	During T2:
0.1 dB for 
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0.3 dB for Ior/Ioc

1.0 dB for RXLEV 
	During T2:

Formulas:
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 = Minimum Requirement - TT

Ior/Ioc = Minimum Requirement - TT

RXLEV + TT

Ior/Ioc = -5.3 dB
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= -10.1 dB:

Measured GSM Carrier RSSI ( uncertainty of RXLEV setting shall be above –75 dBm (Threshold for GSM).

	8.2.3.2 Scenario 2: Only UTRA level changed
	During T1:
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 = -10 dB

Ior/Ioc = 20 dB

RXLEV=-80 dBm
	During T1:
0.1 dB for 
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0.3 dB for Ior/Ioc

1.0 dB for RXLEV 
	During T1:

Formulas:
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 = Minimum Requirement + TT

Ior/Ioc = Minimum Requirement + TT

RXLEV - TT

Ior/Ioc = 20.3 dB
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= -9.9 dB:

Measured GSM Carrier RSSI ( uncertainty of RXLEV setting shall be below –80 dBm (Threshold for GSM).

	
	During T2:
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 = -10 dB

Ior/Ioc = -9 dB

RXLEV=-80 dBm
	During T2:
0.1 dB for 
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0.3 dB for Ior/Ioc

1.0 dB for RXLEV 
	During T2:

Formulas:
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 = Minimum Requirement - TT

Ior/Ioc = Minimum Requirement - TT

RXLEV + TT

Ior/Ioc = -9.3 dB
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= -10.1 dB:

Measured GSM Carrier RSSI ( uncertainty of RXLEV setting shall be above –80 dBm (Threshold for GSM).

	8.2.3.3 Scenario 3: HCS with only UTRA level changed
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 = -10 dB

Ior/Ioc = 30 dB


	0.1 dB for 
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0.3 dB for Ior/Ioc

0.3 dB for Ioc/RXLEV
	Formulas:
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 = Minimum Requirement + TT

Ior/Ioc = Minimum Requirement + TT

(Ioc/Rxlev)test requirement = (Ioc/Rxlev)minimum requirement + TT

Ior/Ioc = 30.3 dB
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= -9.9 dB:
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 = -10 dB

Ior/Ioc =  10 dB


	0.1 dB for 
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0.3 dB for Ior/Ioc

0.3 dB for Ioc/RXLEV
	Formulas:


[image: image247.wmf]or

c

I

E

CPICH

_

 = ratio - TT

Ior/Ioc = ratio - TT

(Ioc/Rxlev)test requirement = (Ioc/Rxlev)minimum requirement - TT

Ior/Ioc = 9.7 dB
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= -10.1 dB:


	8.2.4 FDD/TDD cell re-selection
	TBD
	
	

	8.3 UTRAN Connected Mode Mobility
	TBD
	
	

	8.3.1 FDD/FDD Soft Handover
	Because the relationships between the Test system uncertainties and the Test Tolerances are complex, it is not possible to give a simple derivation of the Test Requirement in this document. The analysis is recorded in 3GPP TR 34 902 [24].

	
	During T0/T1 and T2/T3/T4/T5/T6:

Cell 1:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB

Relative delay of paths received from cell 2 with respect to cell 1 = {-148 … 148} chips
	During T0/T1 and T2/T3/T4/T5/T6:

+0.70 dB

+0.70 dB

+0.70 dB

+0.70 dB

0.5  chips


	During T0/T1 and T2/T3/T4/T5/T6:

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

{-148+TT … 148-TT} chips

	
	During T0/T1:

Already covered above


	During T0/T1:

Covered above


	During T0/T1:

Already covered above



	
	During T2/T3/T4/T5/T6:

Cell 2:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB


	During T2/T3/T4/T5/T6:

+0.70 dB

+0.70 dB

+0.70 dB

+0.70 dB


	During T2/T3/T4/T5/T6:

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT



	8.3.2 FDD/FDD Hard Handover
	
	
	

	8.3.2.1 Handover to intra-frequency cell
	Because the relationships between the Test system uncertainties and the Test Tolerances are complex, it is not possible to give a simple derivation of the Test Requirement in this document. The analysis is recorded in 3GPP TR 34 902 [24].



	
	During T1 and T2 / T3:

Cell 1:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB


	During T1 / T2 / T3:

+0.70 dB

+0.70 dB

+0.70 dB

+0.70 dB


	During T1 and T2 / T3:

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT



	
	During T1:

Already covered above


	During T1:

Covered above


	During T1:

Already covered above



	
	During T2 / T3:

Cell 2:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB


	During T2 / T3:

+0.70 dB

+0.70 dB

+0.70 dB

+0.70 dB


	During T2 / T3:

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT



	8.3.2.2 Handover to inter-frequency cell
	Because the relationships between the Test system uncertainties and the Test Tolerances are complex, it is not possible to give a simple derivation of the Test Requirement in this document. The analysis is recorded in 3GPP TR 34 902 [24].



	
	Channel 1 during T1 and T2 / T3:

Cell 1:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB


	Channel 1 during T1 and T2 / T3:

+0.80 dB

+0.80 dB

+0.80 dB

+0.80 dB


	Channel 1 during T1 and T2 / T3:

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT



	
	Channel 2 during T1:

Not applicable


	Channel 2 during T1:

Not applicable


	Channel 2 during T1:

Not applicable



	
	Channel 2 during T2 / T3:

Cell 2:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB


	Channel 2 during T2 / T3:
+0.80 dB

+0.80 dB

+0.80 dB

+0.80 dB


	Channel 2 during T2 / T3:

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT



	8.3.3 FDD/TDD Handover
	TBD
	
	

	8.3.4 Inter-system Handover form UTRAN FDD to GSM
	During T2 and T3

RXLEV=-75 dBm


	During T2 and T3:

+ 1 dB for RXLEV


	During T2 and T3

Minimum Requirement + TT

Only RXLEV during T2 and T3 is a critical parameter. UE measurement accuracy for GSM Carrier RSSI is (4 dB in this test. 

During T2 and T3 : measured GSM Carrier RSSI ( uncertainty of RXLEV setting shall be above –80 dBm (Threshold for GSM). => TT=+1 dB for RXLEV

	8.3.5 Cell Re-selection in CELL_FACH
	
	
	

	8.3.5.1 One frequency present in the neighbour list
	Because the relationships between the Test system uncertainties and the Test Tolerances are complex, it is not possible to give a simple derivation of the Test Requirement in this document. The analysis is recorded in 3GPP TR 34 902 [24].

	
	During T1 and T2:

Cells 1 and 2:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB

S-CCPCH_Ec/Ior = -12 dB

Cells 3, 4, 5, 6:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB

S-CCPCH_Ec/Ior = -12 dB

Ior(3, 4, 5, 6) = -69.73 dBm


	During T1 and T2:

+0.60 dB

+0.60 dB

+0.60 dB

+0.60 dB

+0.60 dB

-0.50 dB

-0.50 dB

-0.50 dB

-0.50 dB

-0.50 dB

+0.03 dB for Ior(3, 4, 5, 6)
	During T1 and T2:

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ior(3, 4, 5, 6) Minimum Requirement + TT



	
	During T1:

Ior(1) = -62.73 dBm 

Ior(2) = -59.73 dBm 


	During T1:

-0.27 dB for Ior(1)

+0.13 dB for Ior(2)


	During T1:

Minimum Requirement (Ior(1)) + TT

Minimum Requirement (Ior(2)) + TT 



	
	During T2:

Ior(1) = -59.73 dBm 

Ior(2) = -62.73 dBm


	During T2:

+0.13 dB for Ior(1)

-0.27 dB for Ior(2)


	During T2:

Ior(1) Minimum Requirement + TT

or(2) Minimum Requirement + TT



	8.3.5.2 Two frequencies present in the neighbour list
	Because the relationships between the Test system uncertainties and the Test Tolerances are complex, it is not possible to give a simple derivation of the Test Requirement in this document. The analysis is recorded in 3GPP TR 34 902 [24].

	
	Channel 1 during T1 and T2:

Cell 1:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB

S-CCPCH_Ec/Ior = -12 dB

Cells 3 and 4:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB

S-CCPCH_Ec/Ior = -12 dB


	Channel 1 during T1 and T2:

+0.60 dB

+0.60 dB

+0.60 dB

+0.60 dB

+0.60 dB

-0.70 dB

-0.70 dB

-0.70 dB

-0.70 dB

-0.70 dB


	Channel 1 during T1 and T2:
Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT



	
	Channel 1 during T1:

Ior(1) = -71.85 dBm 

Ior(3, 4) = -76.85 dBm

Ioc(1) = -70.00 dBm


	Channel 1 during T1:

+0.05 dB for Ior(1)

+0.05 dB for Ior(3,4)

0.00 dB for Ioc(1)


	Channel 1 during T1:

Ior(1) Minimum Requirement + TT

Ior(3, 4) Minimum Requirement + TT

Ioc(1) Minimum Requirement + TT



	
	Channel 1 during T2:

Ior(1) = -67.75 dBm 

Ior(3, 4) = -74.75 dBm

Ioc(1) = -70.00 dBm


	Channel 1 during T2:

+0.75 dB for Ior(1)

-0.05 dB for Ior(3, 4)

-1.60 dB for Ioc(1)


	Channel 1 during T2:

Ior(1) Minimum Requirement + TT

Ior(3, 4) Minimum Requirement + TT 

Ioc(1) Minimum Requirement + TT



	
	Channel 2 during T1 and T2:

Cell 2:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB

S-CCPCH_Ec/Ior = -12 dB

Cells 5 and 6:

CPICH_Ec/Ior = -10 dB

PCCPCH_Ec/Ior = -12 dB

SCH_Ec/Ior = -12 dB

PICH_Ec/Ior = -15 dB

S-CCPCH_Ec/Ior = -12 dB


	Channel 2 during T1 and T2:

+0.60 dB

+0.60 dB

+0.60 dB

+0.60 dB

+0.60 dB

-0.70 dB

-0.70 dB

-0.70 dB

-0.70 dB

-0.70 dB

	Channel 2 during T1 and T2:
Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT

Ec/Ior Minimum Requirement + TT



	
	Channel 2 during T1:

Ior(2) = -67.75 dBm 

Ior(5, 6) = -74.75 dBm

Ioc(2) = -70.00 dBm


	Channel 2 during T1:

+0.75 dB for Ior(2)

-0.05 dB for Ior(5, 6)

-1.60 dB for Ioc(2)


	Channel 2 during T1:

Ior(2) Minimum Requirement + TT

Ior(5, 6) Minimum Requirement + TT 

Ioc(2) Minimum Requirement + TT



	
	Channel 2 during T2:

Ior(2) = -71.85 dBm 

Ior(5, 6) = -76.85 dBm

Ioc(2) = -70.00 dBm


	Channel 2 during T2:

+0.05 dB for Ior(2)

+0.05 dB for Ior(5,6)

0.00 dB for Ioc(2)


	Channel 2 during T2:

Ior(2) Minimum Requirement + TT

Ior(5, 6) Minimum Requirement + TT 

Ioc(2) Minimum Requirement + TT



	8.3.5.3 Cell Re-selection to GSM
	During T1:
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Ior/Ioc = 0 dB

RXLEV=-90 dBm

Ioc/RXLEV = 20
	During T1:
0.1 dB for 
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0.3 dB for Ior/Ioc

1.0 dB for RXLEV 
	During T1:
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 = Minimum Requirement + TT

Ior/Ioc = Minimum Requirement + TT

RXLEV - TT 
Ior/Ioc = 0.3 dB
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= -9.9 dB:

Measured GSM Carrier RSSI ( uncertainty of RXLEV setting shall be below –90 dBm (Threshold for GSM). 

	
	During T2:
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 = -10 dB

Ior/Ioc = - 5 dB

RXLEV=-75 dBm

Ioc/RXLEV = 5
	During T2:
0.1 dB for 
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0.3 dB for Ior/Ioc

1.0 dB for RXLEV 
	During T2:
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 = Minimum Requirement - TT

Ior/Ioc = Minimum Requirement - TT

RXLEV + TT 
Ior/Ioc = -5.3 dB
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= -10.1 dB:
Measured GSM Carrier RSSI ( uncertainty of RXLEV setting shall be above –75 dBm (Threshold for GSM).

	8.3.6 Cell Re-selection in CELL_PCH
	
	
	

	8.3.6.1 One frequency present in the neighbour list
	Same as 8.2.2.1

 
	Same as 8.2.2.1

 
	Same as 8.2.2.1
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 = - 70 dBm

Ior/Ioc = 10.27 dB

Note: Parameters are valid for cell 1 at time T2 and cell 2 at time T1
	0.1 dB for 
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0.3 dB for Ior/Ioc


	Formulas:
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 = Minimum Requirement + TT

Ior/Ioc = Minimum Requirement + TT

Ioc unchanged

Ior/Ioc = 10.57 dB
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	8.3.6.2 Two frequencies present in the neighbour list
	Same as 8.2.2.2

 
	Same as 8.2.2.2

 
	Same as 8.2.2.2
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[image: image263.wmf]oc
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 = - 70 dBm

Ior/Ioc = 2.2 dB

Note: Parameters are valid for cell 1 at time T2 and cell 2 at time T1
	0.1 dB for 
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0.3 dB for Ior/Ioc


	Formulas:
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 = Minimum Requirement + TT

Ior/Ioc = Minimum Requirement + TT

Ioc unchanged

Ioc ratio unchanged

Ior/Ioc = 2.5 dB
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= -9.9 dB:


	8.3.7 Cell Re-selection in URA_PCH
	
	
	


….
3GPP


_1167560777.unknown

_1186458898.unknown

_1186458954.unknown

_1186458976.unknown

_1186458983.unknown

_1186458928.unknown

_1167560779.unknown

_1049278727.unknown

_1104742025.unknown

_1167560775.unknown

_1075010951.unknown

_1075010988.unknown

_1075010986.unknown

_1075010987.unknown

_1075010985.unknown

_1075010924.unknown

_1075010933.unknown

_1049278766.unknown

_1075010901.unknown

_1049184987.unknown

_1049185164.unknown

_1031488012.unknown

_1041014560.unknown

_1005583870.unknown

